SAP ABAP table T71LTIO4 {LTI Plan Payroll Data}

T71LTI04-MANDT = TOOO MANDT TOO0O

e 0..N

-7 MANDT [CLNT (3)]

e - T71LTI04-MOLGA = T500L-MOLGA T500L

N MOLGA [CHAR (2)]

—
\
\
\
\
\

-7 T71LTIO4WTDED T512W—LGART

1 LT Sl T512W
101} 0N | MANDT [CLNT (3)]
{0,1} T71LTIO4-WTEXP = T512W-LGART (oI GA ICHAR (2)]
et il N[ HeeeA
{0,1¥ T71LTIOA-WT F IE/IY___T_5_1 2W-LGART. 5 1 [LGART [CHAR (4)]
10,1} T71LTIO4WTIMP = T512W-LGART _ 0N [ENDDA [DATS (8)]
{01y - .- -7
> _ T71LTI04-OCRSN = T520CR-OCRSN

T520CR

1. Tt MOLGA [CHAR (2)]

OCRSN [CHAR (4)]

N T71LTIO1

ST 0. N |MANDT [CLNT (3)]

CPLAN [CHAR (4)]




